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G2sS12 | STCS 6 180 160 10 = 80
GR 150/M | DGL 1 165 140 10 = 50
LIS5B ' eur 2 180 135 8 10 = 60
STV 150/60 I 3
STV 150760 E T | 4} 165 140 = 160 10 10 = 60
i !
s 130 Ceur |4 160 120 5 6+75
TE 45 . Osr 1 140 120 45 max
| !
oA 2 e 0 5) | 180 145 = 160 2+55 5+ 30
oD 3 - int L6 180 145 = 160 55+ 8 5+ 40
OA 2-WA} int 5 165 142 - 158 5 530
150 C 1 eur 7
150 € 1K PhI 6 205 144 = 164 8 5= 40
150 C 3 Mul 160 150 5+ 40
6542 Ray 185 150 525
1) vide *4
Equivalents
AG 5211 AEG = OA 2 VR 150 int = OD 3
CK 6073%) Ray = OA 2-WA VR 150-30 int = OD 3
G2S5 STCS = OD 3 VR 150 MT eur = OA 2
KD 25 Fer = OD 3 VR 150 ST eur = OD 3
M 8133y Mul = OA 2 VS 110 RAF = S 130
M 82231 Mul = OA 2-WA WT 294 amer = OD 3
QS 150740 EEV = OD 3 OD 3/VR 150 amer = OD 3
Qs 1207 EEV = OA2 11 TA 31 Tes = OA2
QS 1210Y) EEV = OA 2-WA 150 C 1-P Phl = 150 C 1
crimo CCCP = OA 2 150 C 2 Mul = OA2
cr4c CCCP = OD 3 150 C 4 Mul = OA 2
SM 150-30 SFR = OA2 150 C 5-30 CCCP = OD 3
ST 150/30 Tes = OA2 60731) Ray = OA 2-WA
StR 150/30 RFT = OA 2 6626 amer = OA 2
STV 150/30 eur = OA2
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